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A car travels clockwise at constant velocity around a
circular path of radius 180 m on a horizontal road as
shown in the top view F igure. The car

completes one turn in 75 s.

Draw Arrows on the figure to show the following; () e JS JSA .,\r— ML-‘:T @
\[The direction of the car's velocity i at a position (A), B sl AT '.,\,..11.\:1: .\_;s\ |;
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What is the magnitude of the tangential acceleration ¢4 jyul ) (g ) (ks )‘_;i)
of the car? (Explain your answer) 4
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of 3.00 m/s.

Calculate the normal force exerted by the seat on

a 36.0 kg child at the bottom of the wheel at

A Ferris wheel of radius 10.0m l
The Ferris wheel moves in a verti

_3.00m/s Whde gl

s shown in the Figure.
cal circle at a constant speed
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(Assumng that angular acoeleration w constarr

what is the angular acceleration of the discus thrower? # 0 @ i J 44 J ¢ juid Sl =@
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civil engineer wants to design a curved roadwa
thout skidding at a specified speed . He designs
= inside of the curve, as shown in the figure. Suppose
> road is 59km/h, the radius of the curve is 40 m.

nore all friction forces)

aw a vector on the figure showing the
ection of the net force on the car.

what angel (9) should the curve be

1ked?
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y so that the car can move
the road to be tilted toward
the specified speed for
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